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12 cm ePsKk;  5 cm mfyKk; cila xU nrt;tfj;jpd; Rw;wsitf;

fhz;Nghk;.

Rw;wsT = 2(ePsk; + mfyk;)

= 2(12cm + 5 cm)

= 2 × 17 cm

= 34 cm

ePsk;> mfyk; Mfpa ,U fzpaq;fSf;Fkhd vz; ngWkhdq;fs;

jug;gl;Ls;sNghJ Rw;wsTf;fhd epiyahd Xu; vz;ngWkhdk; fpilf;Fk;.

xU nrt;tfj;jpd; ePskhapUf;ff;$ba ve;jnthU ngWkhdj;ijAk; l

vdTk; mfykhapUf;ff;$ba ve;jnthU ngWkhdj;ijAk; b  vdTk;

nfhs;Nthk;. ,dp> Rw;wsT p Mapd;>

p = 2(l + b) my;yJ p = 2l + 2b

xU nrt;tfj;jpd; ePsk;> mfyk; vd;gtw;Wf;F ,Uf;ff;$ba vitNaDk;

,U ngWkhdq;fs; jug;gLk;NghJ Rw;wsitg; ngw;Wf; nfhs;sf;$ba

nghJthd xU njhlu;G NkNy fhl;lg;gl;Ls;sJ. ,t;thwhd xU njhlu;G

#j;jpuk;#j;jpuk;#j;jpuk;#j;jpuk;#j;jpuk; vdg;gLk;.

16#j;jpuq;fs;#j;jpuq;fs;#j;jpuq;fs;#j;jpuq;fs;#j;jpuq;fs;

 ,g;ghlj;ijf; fw;gjd; %yk; ePq;fs;

 xU #j;jpuj;jpy; xU khwpypia vOthahf khw;Wjy;
 xU #j;jpuj;jpYs;s xU khwp jtpu vQ;rpatw;wpd; ngWkhdq;fs;

jug;gLk;NghJ ngWkhdk; jug;glhj khwpapd; ngWkhdk; fhzy;
vd;Dk; Nju;r;rpfis miltPu;fs;.

    16.1 #j;jpuq;fspd; mwpKfk; 16.1 #j;jpuq;fspd; mwpKfk; 16.1 #j;jpuq;fspd; mwpKfk; 16.1 #j;jpuq;fspd; mwpKfk; 16.1 #j;jpuq;fspd; mwpKfk;

c a
c = a + b

b

12cm

5cm
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 xU #j;jpuj;jpd; %yk; gy ngsjPff; fzpaq;fSf;fpilapyhd njhlu;G

fhl;lg;gLk;.

 xU #j;jpuj;jpy; xU rpwg;Gf; fzpak; vQ;rpa fzpaq;fspdhy; njspthff;

$wg;gl;bUf;Fk;. mr;rpwg;Gf; fzpak; #j;jpuj;jpd; vOtha; vdg;gLk;.

,jw;Nfw;g NkNyAs;s #j;jpuj;jpd; vOtha; p MFk;.

xU thq;fpd; kPJ xU fjpiu itf;fg;gl;Ls;s cUtk; fPNo

fhl;lg;gl;Ls;sJ. mUfpy; xU gps;is epw;fpwJ.

cUtpy;  jug;gl;Ls;s jfty;fspd;gb

mtw;wpd; cauq;fisf; fUj;jpw ;

nfhz;L xd;Wf;nfhd;W NtWgl;l

vOtha ;fisf ; nfhz;l %d ;W

#j;jpuq;fis cUthf;fyhk;.

c I vOthahff; nfhz;l #j;jpuk; c = a + b

a I vOthahff; nfhz;l #j;jpuk; a = c − b

b I vOthahff; nfhz;l #j;jpuk; b = c  −a

xU nrt;tfj;jpd; ePsk; l> mfyk; b, Rw;wsT p Mapd;

p = 2(l+ b) vd;w #j;jpuj;ij cgNahfpj;J gpd;tUk; ml;ltizapd;

ntw;wplq;fis epug;Gf.

(,jw;Fr; rkd;ghLfs; gw;wpa mwpit cgNahfpf;f.)

 p = 2(l + b) vd;gjd; %yk;; l, b, p  Mfpa %d;W khwpfSf;FkpilNa
cs;s  njhlu;G fhl;lg;gLfpd;wJ. ,tw;wpy; vitNaDk; ,U khwpfspd;
ngWkhdk; jug;gLk;NghJ kw;iwa khwpapd; ngWkhdj;ijf; fz;L
nfhs;syhk;.
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>

>

>
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a

b
c

   ePsk; (l)        mfyk; (b)   Rw;wsT (p)

(1) 31 cm 19 cm -------

(2) 5.3 cm 2.7 cm -------

(3) 8
1

2
m 5

1

2
m -------

(4) 27 cm -------- 80 cm

(5) 12.6 m -------- 40 m

(6) 7
1

2
m -------- 22 m

(7) ------- 14 cm 80 cm

(8) ------- 2.2 m 23 m

(9) ------- 3
1

4
cm 17 cm

nraw;ghLnraw;ghLnraw;ghLnraw;ghLnraw;ghL

>

>

>
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NkNyAs;s ml;ltizapy; ntw;wplq;fis epug;Gk;NghJ  l, b, p

Mfpatw;wpy; kpf ,yFthfg; ngWkhdj;ijg; ngw;Wf; nfhs;sf; $ba

khwp vJ? mt;thwpUg;gjw;fhd fhuzk; ahjhapUf;fyhk;?  ez;gu;fSld;

fye;JiuahLf.

(i) v = u + ft vDk; #j;jpuj;jpy; t ia vOthahf;Ff.

t cld; kw;iwa khwpfs; njhlu;Ggl;;Ls;s Kiw gpd;tUkhW

t MdJ f  My; ngUf;fg;gl;L u $l;lg;gl;Ls;sJ. rkd;ghL jPu;j;jypy;

ehk; fw;wJ Nghy Kjypy; u itAk; ,uz;lhtjhf f IAk; ePf;fp

gpd;tUk; Kiwapy; t I vOthahf khw;wyhk;.

       v   = u + ft

 v − u   = u + ft −  u

 v − u   = ft

  
v u

f

−
=  

ft

f

  
v u

f

−
= t

 t  = 
v u

f

−

(ii) NkNyAs;s #j;jpuj;ij cgNahfpj;J v = 47 > u = 11> f = 9 MFk;NghJ

t apd; ngWkhdj;ijf; fhz;f.

t I vOthahf khw;wpg; gpujpapLtjd; %yk;  t apd; ngWkhdj;ij

,yFthff; fhzyhk;.

     16.2 vspa #j;jpuj;jpy; vOtha; khw;wk;16.2 vspa #j;jpuj;jpy; vOtha; khw;wk;16.2 vspa #j;jpuj;jpy; vOtha; khw;wk;16.2 vspa #j;jpuj;jpy; vOtha; khw;wk;16.2 vspa #j;jpuj;jpy; vOtha; khw;wk;

cjhuzk; 16.1cjhuzk; 16.1cjhuzk; 16.1cjhuzk; 16.1cjhuzk; 16.1

t  I vOthahf khw;wpa gpd;

#j;jpuj;ij cgNahfpj;jy;

t = 
v u

f

−

= 
47 -

9

11

= 
36

9
 =  4

t ia vOtha; Mf;Ftjw;F Kd;

#j;jpuj;ij cgNahfpj;jy;

v = u + ft

47 = 11 + 9t

47 - 11 = 11 + 9t - 11

36 = 9t

36

9
=
9

9

t

   t = 4

−
−

−
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(i) S = 
n
a l

2
( )+  vd;Dk; #j;jpuj;jpy; l I vOthahf khw;Wf.

l  cld; kw;iwa khwpfs; njhlu;Ggl;bUf;Fk; Kiw gpd;tUkhW
 l  cld; a $l;lg;gl;Ls;sJ.
 ,f;$l;Lj;njhif n My; ngUf;fg;gl;Ls;sJ.
 fpilj;j tpil 2 My; tFf;fg;gl;Ls;sJ.

#j;jpuj;jpy; l tyg; gf;fj;jpypUg;gjhy; l vQ;rpapUf;f kw;iwa cWg;Gfis
tyg; gf;fj;jpypUe;J ePf;FNthk;.

          S = 
n
a l

2
( )+

   
2 × S

n
= 
2

2

1 1

1 1

×

×
+( )

n

n
a l     ———— n IAk;; 2 I Ak; ePf;Fjy;

       
2S

n
= a + l

2S

n
a− = a + l − a ———— a  I ePf;Fjy;

         l = 
2S

n
a−

NkNyAs;s #j;jpuj;ij cgNahfpj;J S = 13.5,  n = 9 " a = 1  MFk;NghJ
l ,d; ngWkhdk; fhz;f.

cjhuzk; 16.2cjhuzk; 16.2cjhuzk; 16.2cjhuzk; 16.2cjhuzk; 16.2

l  I vOthahf khw;wpa gpd; #j;jpuj;ij

cgNahfpj;jy;

       l = 
2S

n
a−

= 
2 13 5

9
1

×
−

.

= 
27

9
1−

=  3 − 1

        l = 2

 l I vOthahf;Ftjw;F Kd;

#j;jpuj;ij cgNahfpj;jy;

         S = 
n
a l

2
( )+

     13.5 = 
9

2
1( )+ l

2 × 13.5 = 
2 9

2
1

×
+( )l

          27 =  9 (1 + l)

        
27

9
= 
9

9

( )1 + l

           3 =  1 + l

      3 − 1 = 1 + l − 1

            l = 2
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gapw;rp 16.1gapw;rp 16.1gapw;rp 16.1gapw;rp 16.1gapw;rp 16.1

NkNyAs;s ,uz;L cjhuzq;fspd; gb xU #j;jpuj;Jld; njhlu;Gila

xU khwpapd; ngWkhdj;ijf; fhz;gJ mk;khwp vOthahf ,Uf;Fk;

NghJ kpf ,yFthdjhfpwJ vd;gij tpsq;fpf; nfhs;syhk;.

1. c = 2πr vDk; #j;jpuj;jpy; r I vOthahf khw;Wf.

2. A = πr2 + πrl vDk; #j;jpuj;jpy; l I vOthahf khw;Wf.

3. v r h=
1

3

2
  vDk; #j;jpuj;jpy; h I vOthahf khw;Wf.

4. v
2
 = u2 + 2as vDk; #j;jpuj;jpy;  s  I vOthahf khw;Wf.

5. y = mx + c  vDk; #j;jpuj;jpy; x I vOthahf khw;Wf.

6. y
a bx

c
=

+
  vDk; #j;jpuj;jpy; x I vOthahf khw;Wf.

7. S = 180(n - 2) vDk; #j;jpuj;jpy;  n I vOthahf khw;Wf.

8.
1 1 1

f V u
= +  vDk; #j;jpuj;jpy;  f I vOthahf khw;Wf.

9. ax = c + bx  vDk; #j;jpuj;jpy;  x I vOthahf khw;Wf.

10. P
y b

y
=

+ 2
 vDk; #j;jpuj;jpy; y I vOthahf khw;Wf.

b = 10 , p = 6 vdpd; y ,d; ngWkhdk; ahJ?

11. A h a b= +
1

2
( )  vDk; #j;jpuj;jpy; b I vOthahf khw;Wf.

A = 15, h = 9, a = 3 vdpd; b ,d; ngWkhdk; fhz;f.

12. f c= +
9

5
32   vDk; #j;jpuj;jpy;  c ,d; ngWkhdj;ij f ,y; jUf.

13. S
n

a n d= + −
2
2 1{ ( ) }  vDk; #j;jpuj;jpy;

(i) d I vOthahf khw;Wf. (ii) a I vOthahf khw;Wf.

14. x = 2at ———(1)

y =  at2 ———(2)

Kjyhk; #j;jpuj;jpy; t ia vOthahf khw;Wf. t apd; tpilia ,uz;lhk;
#j;jpuj;jpy; gpujpapLf. ePu; ngw;Wf; nfhz;l #j;jpuj;jpy; ,y;yhj
MapDk; Kd;ida ,uz;L #j;jpuq;fspYk; ,Ue;j khwp ahJ?


